STEERING & SUSPENSION PARTS

fjuo sasodind uonELWIOJUI 10j PAsSN € JUSLUNJOP SIY] Ul papn|oul ejep pue siaquinu jied ‘suondussap jonpoid ||y
Jipljbewe |bjig a>apes 13|49 aA LIB|BIBLINU BAlEd ‘LUBjEWE|YISE UnIN WD IYEPUBLLNYOP NG XK

SINALI M3N




! a

TEKNOROT REF. B-1019 ADAPTABLEFOR BMW
Lateral Arm

4
F
£

Weight: 0924  Length: 273

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
X1 £84 2009-2016  Rear Upper 33322409891, 33326782168
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
o B-165 tontrol Arm Rear Upper 33322409891* 33326782168*
g Bushing
TEKNOROT REF: B-1019K P
Lateral Arm with accessories

Weight: 1369  Length: 273

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
X1 £84 2009-2016  Rear Upper 33322409691, 33326762168
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
o B-165 Lontrol Arm Rear Upper 33322409891* 33326782168
' Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




L 5 T&XNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: B-1023 ADAPTABLEFOR BMW
Steering Tie Rod

— e

Weight: 0571  Length: 251  Bolt Metric: M14X1,5  Housing Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

3-SERIES G20 2018- Front 32106880695* 32106880697
TEKNOROT REF: B-128K ADAPTABLEFOR BMW
Suspension Control Arm and With big bushing [

Ball Joint Assembly

Weight: 6733  Length: 3698

MODEL NO BODY CODE VEAR DIRECTIONS OEM NO
Front Right "
2-SERIESACTIVE TOURER ~ FA5F46 2014- o 31126871302
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB1117
SB 1003 Lontrol Arm Front Right 311266874342
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF.: B-128K ADAPTABLEFOR BMW

Suspension Control Arm and With big bushing
Ball Joint Assembly

- ¥

Weight: 6,733  Length: 3898

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
X1 F48 2015- Front Right 31126871302*
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB1117
- =% S81003 control Arm Front Right 31126874342
o= Bushing
TEKNOROT REF- B-128K P
Suspension Control Arm and With big bushing

Ball Joint Assembly

r}f‘{'

il U

Weight: 6733  Length: 3698

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right .
X2 F39 2018 o 31126871302
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB1117
- - SB 1003 Lontrol Arm Front Right 311266874342
=g Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



uly 2020

TEKNOROT REF. B-128K ADAPTABLEFOR MIINI/

Suspension Control Arm and With big bushing
Ball Joint Assembly

e 5 T&XNOROT

STEERING 6 SUSPENSION PARTS

Weight: 6,733  Length: 3898

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
COUNTRYMAN F60 2017- Front Right 31126871302*
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB1117
SB1003 control Arm Front Right 31126874342
Bushing
TEKNOROT REF: B-129K SAPTABLEFOR EMW
Suspension Control Arm and With big bushing : T
Ball Joint Assembly
Weight: 6733  Length: 3698
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
2-SERIES ACTIVE TOURER F45,F46 2014- Front Left Lower 31126871301*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
S81117
SB 1004 control Arm Front Left 31126874341

Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF.: B-129K ADAPTABLEFOR BMW

Suspension Control Arm and With big bushing
Ball Joint Assembly

=

Weight: 6,733  Length: 3898

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
X1 F48 2015- Front Left Lower 31126871301*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB1117
w < SB 1004 Gontrol Arm Front Left 31126874341
A Bushing
TEKNOROT REF: B-129K ADAPTABLEFOR BMW
Suspension Control Arm and With big bushing

Ball Joint Assembly

=

Weight: 6733  Length: 3698

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
X2 F39 2018- Front Left Lower 31126671501
COMPONENTS NUMBER NAME ~ DIRECTIONS OEMNO
SB1117
w . S8 1004 Contral Arm Front Left 31126874341
A g Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Ve

TEKNOROT REF.: B-129K ADAPTABLEFOR MIINI/

Suspension Control Arm and With big bushing
Ball Joint Assembly

4
F
£

Ag
v

Weight: 6,733  Length: 3898

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
COUNTRYMAN FE0 2017- Front Left Lower 31126871301*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

SB1117

df / SB 1004 tontrol Arm Front Left 31126874341

e Bushing
TEKNOROT REF: LA-271 ADAPTABLEFOR | AND ROVER
Steering Tie Rod End for Left hand drive

vehicles
@ B
Weight: 2568 Length: 1170  Bolt Metric: M12X1,25
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
RANGE ROVER LP, P38A 1994-2002  Frontouter  JMPPO00/0" ANRSE2S", QEKOODOSD

STC1872

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: LA-272 AoAPTABLEFOR | AND ROVER
Steering Tie Rod Assembly for Left band drive

vehicles

Weight: 2967  Length. 1170  Bolt Metric: M12X1,25

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
RANGE ROVER LP. P38A 1994-2002 Front QHBOOOO70, ANR3825
TEKNOROT REF: M-552 ADAPTABLEFOR MERCEDES
Steering Center Link

Weight: 3188  Length: 1148  Bolt Metric: M16X15  Housing Metric: M24X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

G-CLASS W463 1997-2018 Front 4634651115

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

(A TE |
A\) STEERING E SUSPENSION PARTS I

TEKNOROT REF. VO-841 ADAPTABLEFOR /L VO
Steering Tie Rod End

=

»

=g

Weight: 0761  Length: 139  Bolt Metric: M12X1,75  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
560 2019- Front Right 31681049, 32221688
TEKNOROT REF. VO-841 ADAPTABLEFOR /L VO
Steering Tie Rod End

=

»

=g

Weight: 0781  Length: 139  Bolt Metric. M12X1,75  Housing Metric. M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

V6o 2019- Front Right 31661048 32221658

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

A T=
k) STEERING 6 SUSPENSION PARTS

TEKNOROT REF.: VO-842 ADAPTABLEFOR /(0L VO
Steering Tie Rod End

.,

=y

Weight: 0761  Length: 139  Bolt Metric: M12X1,75  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
560 2019- Front Left 31681048
TEKNOROT REF: VO-842 ADAPTABLEFOR VOL VO
Steering Tie Rod End

.,

=y

Weight: 0781  Length: 139  Bolt Metric. M12X1,75  Housing Metric. M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

V6o 2019- Front Left 31681048

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

A T=
k) STEERING 6 SUSPENSION PARTS

TEKNOROT REF: AC-253 ADAPTABLEFOR ACURA

Steering Tie Rod Auto transmission

Weight: 0381 Length: 123  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
AL 2004-2012 Front 53010SIAA0]
TEKNOROT REF: AC-253 T
Steering Tie Rod Auto transmission -

Weight: 0381 Length: 123  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

LEGEND 2nd Gen 2005-2012 Front 530105JAA01

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF. H-1018 ADAPTABLEFOR HONDA
Lateral Arm

H

Weight: 1066  Length: 345

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
Rear Lower
ACCORD Vil 2003-2008 oo 52360S0AA00
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB1298 Control Amn Rear Lower KD3528350% KD3528300*
Bushing
TEKNOROT REF: HY-1053 ADAPTABLEFOR HYUNDA/
Steering Tie Rod MDPS BLACKRACK T T
YEAR ONLY
from 2015-

( —

Weight: 0647 Length: 230  Bolt Metric. M16X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

140 (VF] 2011- Front 5772401000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TSNOROT

k’ STEERING 6 SUSPENSION PARTS a 2020

TEKNOROT REF: HY-1053 ADAPTABLEFOR HYUNDA/!

Steering Tie Rod YEAR ONLY
2015-2018

Weight: 0647  Length: 230  Bolt Metric: M16X15  Housing Metric. M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
SONATA /th Gen, LF 2015- Front 5772401000
TEKNOROT REF: HY-1053 Wi ),

Steering Tie Rod

— R = -
Weight: 0647 Length: 230  Bolt Metric. M16X1,5  Housing Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
OPTIMA 4th Gen 2015- Front 5772401000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




e —
{» T&XNOROT

TEKNOROT REF: I-928 ADAPTABLEFCR [SUZU

Suspension Control Arm and 250/T0
Ball Joint Assembly

Weight: 2856  Length: 301  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
: . Front Right
D-MAX 4x2 2002-2006 Upper 8980058360
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
A -104 Ball Joint Front 8972357770, 8980058270
TEKNOROT REF: 1-928 ADAPTABLEFOR [SLIZLS
Suspension Control Arm and 250/TD
Ball Joint Assembly

Weight: 2856  Length: 301  Bolt Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
. Front Right
O-MAX 2006-2012 Upper 8980058360
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
A I-104 Ball Joint Front 83972357770, 8980058270

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF: I-929 ADAPTABLEFCR [SUZU

Suspension Control Arm and 250/T0
Ball Joint Assembly

P

Weight: 2856  Length: 301  Bolt Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
D-MAX 4x2 2002-2006  Front Left Upper 8960058370
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
A I-104 Ball Joint Front 8972357770, 8980058270
TEKNOROT REF: 1-929 ADAPTABLEFOR [SLIZLS
Suspension Control Arm and 250/TD
Ball Joint Assembly

W

Weight: 2856  Length: 301  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
D-MAX 2006-2012  Front Left Upper 8980058370
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
A -104 Ball Joint Front 8972357770 8960058270

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




A\ TXNOROT

A T=
\) STEERING 6 SUSPENSION PARTS

TEKNOROT REF: IN-113 ADAPTABLE FOR [NIFINIT
Steering Tie Rod Moog type

| o

Weight: 0448  Length: 170  Bolt Metric: M16X15  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS ODEMNO
M35 ve0 2006-2010  Front Inner EV800567, 48521E6027
TEKNOROT REF: IN-123 ADAPTABLEFOR [NFINITY

Steering Tie Rod

: =

Weight: 0766  Length: 245  Bolt Metric. M16X1,5  Housing Metric: M20X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

0OX56 2004-2013 Front Inner 4852175000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TNOROT

g
A\ STEERING 6 SUSPENSION PARTS

TEKNOROT REF: IN-123 ADAPTABLEFOR INFINIT]
Steering Tie Rod

t = |

Weight: 0766  Length: 245  Bolt Metric: M16X15  Housing Metric: M20X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
gx80 Y62 2014-2019 Front Inner 4852175000
TEKNOROT REF: IN-123 ADAPTABLEFOR NISSAN
Steering Tie Rod

t = |

Weight: 0766  Length: 245  Bolt Metric. M16X1,5  Housing Metric: M20X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TITAN 2004-2015 Front Inner 4852175000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: LX-318
Suspension Control Arm and

‘ Ix2
Ball Joint Assembly
)
Weight: 1551  Length: 261  Bolt Metric: M12X1,25
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
GS 3rd Gen (5190] 2005-2011 Upper
COMPONENTS NUMBER NAME DIRECTIONS
e
z 3 Suspension Ball
. LX-315 it Front Upper
TEKNOROT REF: LX-319
Suspension Control Arm and 4x2
Ball Joint Assembly
Weight: 15561  Length. 261  Bolt Metric: M12X1,25
MODEL NO BODY CODE YEAR DIRECTIONS
GS 3rd Gen (5190) 2005-2011  Front Left Upper
COMPONENTS NUMBER NAME DIRECTIONS
e
z : Suspension Ball
. LX-315 it Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR [ EXLJIS

OEMNO

4861039125

OEMNO

4861039125%, 4663039085*

ADAPTABLEFOR [ EXLIS

OEMNO

4863039085

OEMNO

4861039125* 4665039065*



N TNOROT

g
A\ STEERING 6 SUSPENSION PARTS

TEKNOROT REF. LX-321 ADAPTABLEFOR | EXLJS
Steering Tie Rod End

)

T,

Weight: 0831 Length: 195  Bolt Metric: M12X1,25  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RX350 AL20 2016- Front Outer 4546009270
TEKNOROT REF. LX-321 ADAPTABLEFOR | EXLJS
Steering Tie Rod End

)

T,

Weight: 0831  Length: 195  Bolt Metric: M12X1,25  Housing Metric. M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RX450h ALZ0 2016- Front Outer 4546009270

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TENOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. LX-338 ADAPTABLEFOR [ EXUS
Lateral Arm

1@

Weight: 1468  Length: 3135

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
GX470 1120 2003-2010  Rear Right Upper 4871035060
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB 1299 Lateral ATn Rear Lower 4766950AC*
Bushing

ADAPTABLEFOR TYOTA

'

TEKNOROT REF: LX-338
Lateral Arm

1@

Weight: 1468  Length: 3135

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
4RUNNER 2003-2009  Rear Right Upper 4871035060
COMPONENTS NUMBER NAME DIRECTIONS DEMNO
SB1299 Lateral AT | pert ower 4766950AC*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&NOROT 2020

TEKNOROT REF. LX-338 ADAPTABLEFOR TOYOTA
Lateral Arm ‘ S

1@

Weight: 1468  Length: 3135

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LAND CRUISER 1120 2003-2010  Rear Right Upper 4871035060
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB 1299 Lateral ATn Rear Lower 4766950AC*
Bushing
TEKNOROT REF: LX-339 ADAPTABLEFOR [ EXLJS
Lateral Arm

¢—Lg

Weight: 1468  Length: 3135

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
GX470 J120 2003-2010  Rear Left Upper 4871035070
COMPONENTS NUMBER NAME DIRECTIONS DEMNO
SB1299 Lateral AT | pert ower 4766950AC*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF. LX-339 ADAPTABLEFOR TOYOTA
Lateral Arm

¢—Lg

Weight: 1468  Length: 3135

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ARUNNER 2003-2009  Rear Left Upper 4871035070
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB 1299 Lateral ATn Rear Lower 4766950AC*
Bushing
TEKNOROT REF: LX-339 ADAPTABLEFOR TOYOTA
Lateral Arm —

¢—Lg

Weight: 1468  Length: 3135

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
LAND CRUISER J120 2003-2010  Rear Left Upper 4871035070
COMPONENTS NUMBER NAME DIRECTIONS DEMNO
SB1299 Lateral AT | pert ower 4766950AC*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: MA-873
Steering Tie Rod Miata

Weight: 07568  Length: 212 Bolt Metric: M14X1,5  Housing Metric: M168X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

MX-5 % 2015- Front

TEKNOROT REF: N-1007
Suspension Stabilizer Bar Link EVALIA - For Europe

Weight: 0,36 Length: 113  Bolt Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS

NV200 2010- Rear

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR MIAZ A

OEMNO

N24332240

ADAPTABLEFOR NISSAN

OEMNO

54618JX05B, 546184FACA



Ve

TEKNOROT REF: N-10081
Suspension Control Arm and

4
F
£

. YEAR ONLY
Ball Joint Assembl
4 1998-2005
Weight: 2674  Length: 275  Bolt Metric: M14X1,5
MODEL NO BOOY CODE YEAR DIRECTIONS
. . Front Right
Pickup (D22) (2WD] 1998-2012 Upper
COMPONENTS NUMBER NAME DIRECTIONS
L3 .
i Suspension Ball
‘ ® N-1004 Joint Front Upper
TEKNOROT REF. N-10091
Suspension Control Arm and
Ba//eamm ssembly YEAR ONLY
1998-2005
Weight: 2674  Length: 275  Bolt Metric: M14X1,5
MODEL NO BOOY CODE YEAR DIRECTIONS
Pickup (D22) (2WD] 1998-2012  Front Left Upper
COMPONENTS NUMBER NAME DIRECTIONS
L3 .
: Suspension Ball
‘ S N-1004 o Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR NIISSAN

OEMNO

E4524VK385, 54524256865,
5452425686, 54524VK385

OEMNO

E4524VK385%, 54524256857,
54524256867, 54524VK365*

ADAPTABLEFOR NISSAN

OEMNO

E4525VK385, 5452525685,
5452525686, 54525VK385
OEMNO

E4524VK365%, 54524256857,
6452425686, 54524VK365*



{5 TENOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: N-1128 ADAPTABLEFOR NJSSAN
Lateral Arm

=

Weight: 0934  Length: 2925

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
5 Rear Upper
MURANO Z51 2007-2014 Pearward 55110JPO0A
ADAPTABLEFOR NJSSAN

TEKNOROT REF: N-1128
Lateral Arm

=

Weight: 0934  Length: 2925

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
} Rear Upper
OUEST 4th Gen, RE52 2011-2017 Pearward 55110JPO0A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=XNOROT Jiy2020

TEKNOROT REF: SU-634 ADAPTABLEFOR SUIBARL/
Suspension Ball Joint ONLY WRX STI25LT
- ﬁ YEAR ONLY

~ 2008-2010

-

-

Weight: 0326  Length: 87  Bolt Metric: M12X1,25

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO

IMPREZA 2008-2011 Front Lower 20202FG021*
TEKNOROT REF: T-1033 ADAPTABLEFOR TOYOTA
Steering Tie Rod RWD, Base Model, X- ‘

Runner

T

-8

Weight: 067  Length: 293  Bolt Metric: M15X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TACOMA 2nd Gen 2005-2015 Front Inner 4550309480

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF. CH-1028

Suspension Control Arm and
Ball Joint Assembly

Boit Metric: M12X1,75

Weight: 3466  Length: 3834
MODEL NO BOODY CODE YEAR DIRECTIONS
EXPRESS 2500 2nd Gen 2003-2014  TTONLRON
Upper
COMPONENTS NUMBER NAME DIRECTIONS
‘ CH-444 Ball Joint Front Upper
Control Arm
SB 1350 Bushing Front Upper
TEKNOROT REF: CH-1028
Suspension Control Arm and
Ball Joint Assembly
Weight: 3466  Length: 3834  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
EXPRESS 3500 2003-2014 Upper
COMPONENTS NUMBER NAME DIRECTIONS
‘ CH-444 Ball Joint Front Upper
Control Arm
SB 1350 Bushing Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

y2020

ADAPTABLEFOR GHEVROLET

OEMNO

25793553

OEMNO

2680564427, 16224737*

283420264* 84479375%, 23420265%,
84479374*

ADAPTABLEFOR CHEVROLET

OEMNO

25793553

OEMNO

258054427, 15224737

28420264 84479375%, 23420265",
84479374*



[ =
{» T&XNOROT

TEKNOROT REF. CH-1028

Suspension Control Arm and
53//{7/0/}'71‘,4559/77[7/}/ VEAR ONLY
19399-2000
Weight: 3466  Length: 3634  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
SILVERADO 2500 1999-2006 Upper
COMPONENTS NUMBER NAME DIRECTIONS
‘ CH-444 Ball Joint Front Upper
Control Arm
SB 1350 Bushing Front Upper
TEKNOROT REF. CH-1029
Suspension Control Arm and
Ball Joint Assembly
e
Weight: 3466  Length: 3834  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS
EXPRESS 2500 2nd Gen 2003-2014  Front Left Upper
COMPONENTS NUMBER NAME DIRECTIONS
‘ CH-444 Ball Joint Front Upper
Control Arm
SB 1350 Bushing Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ly 2020

ADAPTABLEFOR GHEVROLET

OEMNO

25793553

OEMNO

2680564427, 16224737*

283420264* 84479375%, 23420265%,
84479374*

ADAPTABLEFOR CHEVROLET

OEMNO

25793550

OEMNO

258054427, 15224737

28420264 84479375%, 23420265",
84479374*



-
{5 TXNOROT

TEKNOROT REF. CH-1029
Suspension Control Arm and

ly 2020

ADAPTABLEFOR GHEVROLET

Ball Joint Assembly
<
Weight: 3466  Length: 3834  Bolt Metric: M12X1,75
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
EXPRESS 3500 2003-2014  Front Left Upper 25793550
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ CH-444 Ball Joint Front Upper 268056442%, 15224737*
Control Arm 283420264, 84479375%, 234202657,
551350 Bushing Front Upper 84479374
TEKNOROT REF. CH-1029 ADAPTABLEFOR CHEVROLET
Suspension Control Arm and
Ba//{?lammssemb/y VEAR ONLY
19399-2000 i
-. 2 . T A
Weight: 3466  Length: 3834  Bolt Metric: M12X1,75
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
SILVERADD 2500 1999-2006  Front Left Upper 25793550
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ CH-444 Ball Joint Front Upper 26805442%, 15224737
Control Arm 23420264%* 84479375% 23420263%,
SB 1350 Bushing Front Upper 844795374

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



L 5 T&XNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. CH-1053 ADAPTABLEFOR BUICK
Steering Tie Rod BELT DRIVE ELECTRIC Lo
STEERING(N2)
YEAR ONLY
] e 2014-2016

Bolt Metric: M16X15  Housing Metric: M18X1,5

Weight: 0731  Length: 309

OEMNO

MODEL NO BODY CODE YEAR DIRECTIONS

2010-2016 Front Inner 22685377

LACROSSE 2nd Gen

TEKNOROT REF: CH-1053 ADAPTABLEFOR CHEVROLET

Steering Tie Rod BELT DRIVE ELECTRIC
STEERINGINJ2)

Weight: 0731  Length: 309  Bolt Metric: M1I6X15  Housing Metric: M18X1,5

OEMNO

MODEL NO BODY CODE YEAR DIRECTIONS

IMPALA 10th Gen 2014-2019 Front Inner 22895377

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TSNOROT

k’ STEERING 6 SUSPENSION PARTS a 2020

TEKNOROT REF: CH-993 ADAPTABLEFOR GHEVROLET
Steering Tie Rod

- ee——

Weight: 055  Length: 320  Bolt Metric: M14X15  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
COBALT 2005-2010 Front 15788998, 15796812, EV80445

TEKNOROT REF: CH-993 ADAPTABLEFOR GHEVROLET
Steering Tie Rod

- ee——

Weight: 055 Length: 320  Bolt Metric: M14X15  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

HHR IstGen 2006-2011 Front 15788998, 15796812, EVE80445

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




{5 TXNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. CH-993 ADAPTABLEFOR PONTIAC
Steering Tie Rod R n

e S—

Weight: 055  Length: 320  Bolt Metric: M14X15  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
G5 2007-2010 Front 1576889398, 15796812 EVB0445
TEKNOROT REF: DO-366 ADAPTABLEFOR [JODGE
Suspension Stabifizer Bar Link
it YEAR ONLY
18999-2001

Weight: 0257  Length: 189  Bolt Metric: MBX1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

RAM 1500 2nd Gen 1994-2001 Front 411658940

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

A T=
\) STEERING 6 SUSPENSION PARTS

TEKNOROT REF. DO-366 ADAPTABLEFOR DODGE
Suspension Stabilizer Bar Link VAN
YEAR ONLY
2002-2003
Weight: 0257  Length: 189  Bolt Metric: MBX1,25
MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
RAM 1500 5rd Gen 2002-2005 Front 4116589AC
TEKNOROT REF. FO-1101 ADAPTABLEFOR FOR[D
Steering Tie Rod End 4WD

&

Weight: 1243  Length: 1855  Bolt Metric: M14X15  Housing Metric. 1-16UN 2A

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-250 SUPER DUTY 2nd Gen 2008-2010  Front Right Outer HC373A1318

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




{5 T&’\NOROT

TEKNOROT REF: FO-1101 ADAPTABLEFOR FORD
Steering Tie Rod End AWD 52 @ e

&

Weight: 1243  Length: 1855  Bolt Metric: M14X1,5  Housing Metric: 1-16UN 2A

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
F-350 SUPER DUTY 2nd Gen 2008-2010  Front Right Outer HC373A131B
TEKNOROT REF: FO-1101 AOAPTABLEFOR L)
Steering Tie Rod End 4AWD v

&

Weight: 1243  Length: 1855  Bolt Metric: M14X15  Housing Metric. 1-16UN 2A

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-350 SUPER DUTY 3rd Gen 2011-2016  Front Right Outer HC373A1318

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: JE-33592 ADAPTABLEFOR JEEP
Suspension Control Arm

&

Weight: 1566  Length: 477

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
WRANGLER K 2007-2018 Front Upper 52059976AF
TEKNOROT REF: RA-126 Wiz 5 W)

Suspension Stabilizer Bar Link

Weight: 0,561 Length: 290  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PROMASTER CITY IstGen 2015- Front 68349757AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: TS-1081  wewssr JESLA

Suspension Control Arm and for 4x2
Ball Joint Assembly

Weight: 22681  Length: 411  Bolt Metric: M14X1,5

. Front Right
MODEL S 2012 | ower Forward 6006664000
75-1005
S61363

Suspension Control Arm and for 4x2
Ball Joint Assembly

Weight: 2261  Length: 411  Bolt Metric. M14X1,5

Front Left Lower

MODEL S 2012- Forward 6007996000
15-1005
581363

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 35




